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[3] Choose the most appropriate word (s) for each sentence and mark @, @, @, or @ on the answer

sheet.
(1) The corporation’s position ( ) to payment is made clear in the contracts.

@ for all 2 with regard @ in place on account
(2) My uncle is quiet, kind, and ( ) loses his temper.

@ tenderly @ rather @) distinctly @ seldom
(3) The actor ( ) his cowboy hat on the table.

® laid ® lay ® lied @ layed
(4) They ( ) stealing jewelry from the store.

@ desire @ manage ® deny @ consider
(5) If you ( ) a scientist, you would have received the Nobel Prize.

@ are @ were @ have been @ had been
(6) You can play with Lego building blocks ( ) you promise to leave no mess.

(D depending @ otherwise ® provided @ but for
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[4] Complete the following sentences by putting the most appropriate word (s) in each space. Then mark
on the answer sheet the corresponding numbers for words in the blanks ( a ) and ( b ). The

same word (s) cannot be used twice.

(1) ( ) ( )( a ) one( ) ) solved and a plan { ) ( ). b )

another problem presented itself.

@ on @ than @ no @ decided
® issue ® been @ sooner ® had a b
13 14
(2) My mother ( ) a ) ( ) ( ) (b ) in her childhood.
@ idle @ of ® having repents
® been a b
15 16
(3) That blue building ( ) a ) ( ) (b ) as this red shop.
@ as @ half @ is @ tall a b
17 18
(4) ( ) ( 34 Y a ) ( YO b ) ( ) wait and see.
® to @ it @ was @ for
® there ® nothing @ but a b
19 20
(5) My daughter and son often fight at home, ( 3t a 3 YO b ) ( ) ( )
they make up again.
@® is @ before ® never @ it
® long ® but a b
21 22
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[5] Put the three sentences in each box in appropriate order so as to make a meaningful story. Then

mark on the answer sheet one correct answer from the four opinions.
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[6] Read the following article and answer the questions below.
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(1) Based on the first paragraph, choose the most inappropriate reason for the new sustainable

development goals set in September 2015.
@ because of abnormal climate

@ because of inequality of the sexes

@& because of the pressing matter of aging

@ because of a worldwide conflict

(2) What was the old version of goals made for?
developed countries relying on nuclear power
reducing death rate of young people

taking action against climate change

® 060 6

moderately wealthy individuals

(3) Whose declaration evoked worldwide movements about climate change?
Shaw
the UN, General Assembly

Yasui

® 600

Thunberg

(4) What does the underlined parts in the article imply?
Humans can be alive thanks to their industrial development.
Humans have to take actions not to damage the earth.

Humans are the only species to save the earth.

® 0o o

Humans need to find another planet to live safely.

(5) Which statement is inferred to be true based on the article?
(D People need to take responsibility to self-actualize to take action against the government.
(@ Around the world, global conflict causes poverty and child mortality.
@ It's important to tackle climate issues related to building a sustainable society.

Japan is infamous for its use of disposable plastic; we need to make good use of it.

(6) What is the article mainly focused on?
rejecting a life consumed by plastic
declaring a global emergency

sustainable development goals

® e 6

children living in poverty
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[7] Read the following article and answer the questions below.
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(1) Based on the first and second paragraph, why could some works in high-status be replaced by AI?
Choose the most appropriate one helow.

AT with algorithms made by developers can solve works that involve repetitive tasks or a lot of data.

Tons of new work comes into existence as a result of automation.

Recent AJ illustrates the extent of possible change in some of society’s most illustrious professions.

® e 60 6

The algorithm can reduce errors compared to a human. 32

(2) Choose the best word below to fill in the blank ( A ) in the third paragraph.
(D seeing the sights of @ givingwayto @ inchargeof @ to some extent

(3) Choose the best word below to fill in the blank {( B ) in the fourth paragraph.
@ Acutely @ Allegedly @ Historically @ Ideally 34

(4) Choose the best sentence below to fill in the blank ( C ) in the fifth paragraph.
@ Some fields, like office financial support personnel, are likely to lose more than one in four positions.
@ As Al software becomes increasingly advanced, it could make it harder for many to get a job in
the first place.
(3 Digital advertisers have long used Al to track prospective customers across the web, cajoling them
into clicks and purchases.

(@ There's a future where it becomes part of our normal day-to-day. 3

g

(5) Choose the best one for the blank ( D ) .
@ until @ while @ after @ since 3

H

(6) The underlined part [E] outperformed is the closest in meaning to
@ surpass @ outpost (3 confine @ depict

H
~J

(7 ) Based on the eighth paragraph, choose one true statement.
(D According to the paragraph, Al will replace radiologists perfectly in the future.
@ Al in radiology involves a lot more than classifying images.
@ Recent progresses indicate realizable change in some notable professions.
@ The algorithm can detect cancer as accurate as human doctors.
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(8) Based on the underlined part [F]. choose one true statement.
The number of graduate students of Carnegie Mellon University was larger than the last years.
Most employees in textile industry was dismissed.

Hiring rate of Al specialist decreased by 74% annually over the past four years

® &6 6

Recruitment of new data analysts and engineers tripled.

(9) Refer to the space | i |, | ii |, | iii |, and | iv | in the article. Choose the most appropriate space for

the following sentence.

Even as some high-status professions face possible AI disruption, economists are generally

optimistic about the future of employment.

o@ o o & |

(10) In the article, which of the following is NOT mentioned?

@ Radiologists who do not use Al will replace radiologists using AL

@ Displacement from machine learning is likely to reduce new opportunities.
® Tasks that require interaction between humans are likely to be safer.
@

According to some economists, more dramatic changes are predicted in the coming years.

(11) Choose the best combination of word for the blanks ( 1 ) ., ( 2 ) ,and ( 3 ) to complete the
title of the article.

Title: Alis ( 1 ) to Spark a ( 2 ) Shift in White Collar Work. But There’s Still “( 3 ) of
Work for People to Do”

1 2 3
@ Resorting Hidden Waste
@ About Radical Plenty
@ Blind Passionate Ordeal
@ Vulnerable Token Setback

42
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